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Year X – Physics		QUIZ 
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A teacher wishes to show the production of electrostatic charges.

She holds a rod and rubs it with a cotton cloth. A copper rod, a glass rod, a plastic rod and a steel
rod are available.
TO PRODUCE AN ELECTROSTATIC CHARGE,

Which two rods would both be suitable to use? ELECTRONS MUST BE TRANSFERRED FROM
X THE COTTON CLOTH TO THE ROD,

A acopper rod and a glass rod RESULTING IN A NET NEGATIVE CHARGE
v ON THE SURFACE OF THE ROD

B aglass rod and a plastic rod

C aplastic rod and a copper rod X AS COPPER AND STEEL ARE GOOD

2 ELECTRICAL CONDUCTORS, ANY EXCESS
D aplastic rod and a steel rod X

ELECTRONS TRANSFERRED TO THESE TYPES
‘OF RODS WILL BE CONDUCTED AWAY

FROM THE SURFACE
OIS AND B (CARE HENCE COPPER AND STEEL RODS ARE NOT
ELECTRICAL INSULATORS, ANY BY EXCLUSION, SUITABLE FOR THE ELECTROSTATIC
EXCESS ELECTRONS TRANSFERRED ANSWERB IS DEMONSTRATION.
TO THESE TYPES OF RODS WILL BE CORRECT IGNORE ANSWERS A, C& D

STORED ON THE SURFACE
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(a coulomb B1

(b) (i) negative charge(s) on left AND positive charge(s) on right M1
equal number of positive and negative charges AND number of each < 7 A1

(ii) electrons/negative charges flow from Earth/on to sphere (NOT protons/ positive
charges/ positive electrons move) B1
total charge negative OR (some) protons/positive charges cancelled B1
(c) metal contains free (delocalised) electrons OR electrons can move about B1

electrons in plastic not free to move/fixed

[Total: 7]
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(Teipiasticrods) P and Q are both (Egalvely charged. Rod P hangs freely.

=

The end of rod Q is brought near to end X of rod P, and then near to end Y of rod P.

What happens to the rods in each position?
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A plastic rod is rubbed with a cotton cloth. This process causes the rod and the cloth to become
charged. These charges cause a force between the rod and the cloth.

Which row compares the charges on the rod and the cloth, and describes the effect of the force
between the rod and the cloth?

charges on rod
and cloth Bfject
A [ ompedia Hheyatimet BY RUBBING THE ROD WITH THE
B | opposite they repel X CLOTH, ELECTRONS ARE TRANSFERRED
. FROM THE CLOTH TO THE ROD,
ihoyeolisas
D S e
THIS RESULTS IN THE CLOTH HAVING A
THE CHARGES ON THE ROD AND CLOTH NET POSITIVE CHARGE (ELECTRONS
ARE OPPOSITE TO EACH OTHER, AND ARE LOST), AND A NET NEGATIVE
SO WILL BE ATTRACTED TO EACH OTER CHARGE ON THE SURFACE OF THE ROD
HENCE ANSWER A IS CORRECT (ELECTRONS HAVE BEEN GAINED).

HENCE IGNORE ANSWERS C & D
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